
FireBird Blind Rivet Nut Tool
Part Number Listing and Order Form

Article Item Part Order Item
Number Description Number Qty. Price

1 Nosepiece M3 7262086
2 Nosepiece M4 7262094

Nosepiece 8-32 7262620
3 Nosepiece M5 7262108

Nosepiece 10-32 7262639
4 Nosepiece M6 7262116

Nosepiece 1/4-20 7262647
5 Nosepiece M8 & 5/16-18 7262124
6 Nosepiece M10 7262132

Nosepiece 3/8-16 7262655
7 Threaded Mandrel M3 7262019
8 Threaded Mandrel M4 7262027

Threaded Mandrel 8-32 7262574
9 Threaded Mandrel M5 7262035

Threaded Mandrel 10-24 7262965
Threaded Mandrel 10-32 7262582

10 Threaded Mandrel M6 7262043
Threaded Mandrel 1/4-20M3 7262590

11 Threaded Mandrel M8 7262051
Threaded Mandrel 5/16-18 7262604

12 Threaded Mandrel M10 7262078
Threaded Mandrel 3/8-16 7262612

13 Slide Lock 7262159
14 O-ring 7262701
15 Retaining Clip 7262167
16 Lock Nut 2 7262175
17 Adjusting Sleeve 7262183
18 Lock Nut 1 7262191
19 Head 7262205
20 Drive 7262213
21 V-ring 7262221
22 Washer 7262248
23 Traction Rod 7262256
24 Coupler 7262264
25 Washer 7262272
26 Snap Ring 7262280
27 Plastic Spacer 7262299
28 Drive Bearing Complete 7259185

Article Item Part Order Item
Number Description Number Qty Price

29 Screw 7251982
30 Ball Screw Assembly 7262302
31 Torsion Rod Assembly 7262310
32 Counter Screw 7262329
33 Plate 7262337
34 Drive Pin 7262345
35 Plastic Spacer 7262353
36 Pressure Spring 7262361
37 Torsion Spring 7262388
38 Shaft 7262396
39 Thrust Bearing 7262418
40 Gear Coupler 7262426
41 Washer 7262434
42 Bushing 7262442
43 Washer 7262450
44 Spring Washer 7262469
45 Snap Ring 7262477
46 Cap 7262485
47 Magnet Holder Screw 7251990
48 Spring Lock Washer 7252008
49 Magnet Holder Complete 7259266
50 Bushing 7251893
51 Power Transfer Gear 7262493
52 Housing Screw Long 7252024
53 Housing Screw Short 7252032
54 Tool Housing Red 7262507
55 Hand Guard 7251540
58 Drive Assembly Complete 7262515
59 Motor Complete 7259223
60 Electronic Control Switch 7262523
61 Isolator Sleeve 7255066
63 Suspension Loop 7262531
64 Accessory Compartment 7262140
65 Cover Plate 7262558
66 Hexagonal Screw Driver 7262566
67 Cone Spring 7263066
80 Clutch Complete 7262973
 Steel Case with Insert 7261012


